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& 1. Fora given sotl, the following are given: specific gravity G, = 2.68: moist unit weight y = 18.1 kN/m’,

and the moisture content w = 12%.
Determine:
3 (a) dry unit weight; (b) void ratio; (c) degree of saturation.
#l  Determine the weight of water (kN) to be added per cubic meter of soil for:
(d) 85% degree of saturation; (¢) 100% degree of saturation.
(Hint: BEERA07KTE » +HRAmBN TR s 1) (B/INER35Y » #£1553)

&9 A gravity retaining wall is shown below. Use the Rankine theory to determine the following:
(a) The factor of safety against overturning.

(b) The factor of safety against sliding. (Ignore passive pressure)

;¥ (Hmt: the reduction factors for friction angle ¢; and cohesion c; at the base of wall are assumed to be
ki=kp, =2/3.  Unit weight of concrete = 23.55 kN/m3) (F/NEB 104 » #£204))
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